20A

1) XE4+11X+2 HHHHH”HHHHU
2) X2 46X +8 mﬂﬂm

3) X2-8 og

oooo
oooo

4) X2 -6X+3
3X2+7X -9

4X2+ X -6

5 X2 -8
X2 +6X -7

2X2 +6X -15

6) 2X2 + 10X +7
2X2 - 8X -9

4X2 4+ 2X -2

7) (X+1)(X+2)=X2+3X+2

8) (X+4)(X+3)=X2+7X +12

——

9) X+1)(X+5)=X2+6X+5

10) 3X+2
x X+1

3X+2

3X2 +2X
3X2 +5X +2
11) 5X +5
X X+2

10X + 10
5X2 + 5X

5X2 + 15X + 10

12) 2X +1
X X+5

10X +5

2X2 + X
2X2 + 11X + 5
13) X +8
x 3X+5

5X + 40
3X2 + 24X

3X2 + 29X + 40

14) X+3
x 2X+1

X +3
2X2 + 6X

2X2 +7X + 3

15) 3X +2
X 2X+1

3X+2
6X2 + 4X

6X2 +7X +2

16) 4X +2
x X+3

12X + 6
4X2 + 2X

4X2 + 14X + 6

17) 2X -5
x X+2

4X-10
2X2 - 5X '
2X2- X-10

18) 3X +5
x 3X-1

-3X-5
9X2 + 15X

9X2 + 12X - 5

20B

1) Xe-ax-7 mm
g

2) 2X2 -7X-3

3) X2+5X+9 HHHHHSES

4) X24+ 33X+ 2
X2+ 7X +12

2X2 + 10X + 14

5) X2+6X+5
3X2 - X -2

4X2 + 5X +3

6) 5X2 - 5X-10
2X2 + 11X 45

7X2 + BX -5

7) (X +4)(X +5) = X2 + 9X + 20

F
— ]

8) (X+7)(X+3)=X2+10X + 21

9) (X+4)(X+8)=X2+12X + 32

10) 7X + 1
X X+2

14X + 2

7X2 + X
7X2 + 15X + 2
11) 3X+7
X X+6

T 18X + 42
3X2 + 7X

3X2 + 25X + 42

12) 2X +8
x 3X+1

2X +8
6X2 + 24X

6X2 + 26X + 8

13) X+8
X X-8

-3X - 24
X2 + 8X

X2 +5X - 24

14) 2X -1

X X+9

18X -9

2X2 - X
2X2 +17X -9
15) 3X+5
X X+2

6X + 10
3X2 + 5X

3X2 + 11X + 10

16) 4x-2
x X-38

-12X + 6
4X2 - 2X

4X2 - 14X + 6

17) 5X + 2
x 3X-3

-156X - 6
15X2 + 6X

15X2 - 9X- 6

18) 3X+ 7
X 4X+ 2

6X + 14
12X2 + 28X

12X2 + 34X + 14
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20C

1) 3X2+7X+6
X2 +2X +3

4X2 + 9X +9

2) 2X2 +5X +1
X2 +3X +4

3X2 +8X +5

3) 4X2 + 8X +2
X2 + 3X -1

3X2 + 11X + 1

4) (X +4)(X +8)=X2+ 12X + 32

5) (X+5)(X+2)=X2+7X +10

8) (X+2)(X+6)=X2 +8X +12

7)

>

9)

10)

11)

3X + 6
X X+2

6X + 12
3X2 + 6X

3X2 + 12X + 12
2X + 5
x X+3

6X + 15
2X2 + 5X

2X2 + 11X + 15

4X -5

X X+1

4X -5
4X2 - 5X

4X2 - X -5

X4

1

X3
52-4 = 52 (Remember that 30 = 1.)
A4-7 = A-3

525 = 510

3

+14, -14

C-5+2 = C3
X+ 4

x X+5

5X +20
X2 +4X

X2 +9X +20

19)

20)

A =(6)2 +9(6) +20 =36 + 54 + 20
A =110 sq. units
2X+4) =
20K+ /K =

2X + 8
2X + 10

20X + 80
4x2 + 16X

4X2 + 36X + 80

20D

1) X2 -3X-7
2X2 + 4X - 4
32+ X-11 H

ooooo
ooooo

2) X2+11X+2
3X2 - 4X +6
4X2 + 7X + 8

3) X2 -10X - 5
2X2 - X+14
X2 - 11X+ 9

4) (X+2)(X+7)=X2+9X + 14

5) (2X +3)(X +4)=2X2 + 11X + 12

6) (X+1)(X+9)=X2+10X+9

7) 2X + 4
x X+3

T X+ 12
2X2 44X

2X2 + 10X + 12

8) 3X -1
x X+4
12X -4
3X2 - X
3X2 + 11X -4
9) 2X -3
X X-4
-8X + 12
2X2 - 3X
2X2 - 11X +12
10) X4
11) Y5

12) 3743-2=374
13) BS-1=B4
14) 836 -g18

15) (29)°

16) +15, -15
17) D8-7-3=p2

18) 2X + 4
X X+4

8X + 16
2X2 44X

2X2 + 12X + 16
19) A=2(10)2 +12(10) + 16 =

200 + 120 + 16
A =336 sq. units

20) 2X2 +12X +16
X2 + 3X+ 1

3X2 +15X +17
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20E

1) X24+3X -2
X2 +4X +3 I

2X2 + 7X +1

2) 3X2+2X -1
2X2 - 2X + 8

5X2 +7 ‘
1

3) 5X2 +4X + 7
X2 +3X+ 7

4X2 +7X +14

4) (X+3)(X+3)=X2+6X+9

5) (X +4)(X+2)=2X2 +8X +8

6) (3X)(X +2) =3X2 + 6X

7) 2X -3
x X-2
-4X + 6

2X2 - 3X
2X2-7X + 6

8) X -1
x X-6
-6X + 6

X2 - X
X2 -7X +6

9) 2X +2
x X-3
-6X -6

2X2 4+ 2X
2X2 -4X -6
1
10) X5
1
11) ?

12) 7-2+5:(2) =75
13) A7B-3

14) 525 =510

15) (53"
16) +13, -13
17) C-4+3D-3+87 = C-1D-2

18) 3N + 4
+ 2N+5

5N +9
19) 5(10) + 9 = $59

20) 2Y +7
X 7Y%5

10Y + 35
14Y2 + 49Y

14Y2 + 59Y + 35

21A

X+2

2)

X+2

3)

X+1

4)

X+2

X+1

X+2

X+3

X+ 10

X+4

X+7

X+6

X+2
X X+2

2X +4

X2 4 2X

X2 + 4X + 4

X+3

X X+2

2X +6
X2 + 3X

X2 +5X + 6

X+10
X X+ 1

X +10
X2 + 10X

X2+ 11X + 10

X+4
X X+2

T 2X+8

X2 + 4X

X2 +6X +8

X+7

X X+1

X+7

X2 + 7X

X2 4+ 8X +7

X +6
X X+ 2

2X +12

X2 + 6X

X2+ 8X +12

X+ 11

x X+ 1

X2 + 11X

X+ 11

X+6

X+6
X X+1

X+6

X2 + 2X

X2+ 7X+6

X+ 11

X2 + 12X + 11

X+2

X+7

X+ 7
x X+ 2

2X + 14
X2 +7X

X2 +9X + 14

10)

X+ 15

X+1

X X+ 1

X+ 15
X2 + 15X

X2 + 16X + 15

11)

12)

X+1

13)

X+1

X+15

X+2

X+3

X+8

X+2
X X+1

X+2
X2 + 2X

X2 +3X +2

X+3
X X+1

X+3

X2 + 3X

X2 +4X +3

X+8
X X+1

X+8

X2 +8X

X2 +9X + 8

14)

X+1

X+18
X X+ 1

X +18
X2 + 18X

X2 + 19X + 18

15)

X+4

X+18

X+5

X+ 5
X X+ 4

4X + 20
X2 + 5X

X2 +9X + 20

X+3

3X + 21

X+7

X2 + 10X + 21

X+ 7
X X+ 3

X2 4+ 7X
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